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TUETE Y9I b UEH USS UX SUAT SThHIh oAy g |

FUAT YIS Bl TG o {6 YTUH F P YoSI qUT YA Bl I & TE&AT & T Yo ISs
% 99 FUX BUI ¢ | 39 I1G B A9 W B W 6 YT hiHp €A ¥ |

TGRS Tt H Ul AR faedt (A), (B), (C) qam (D) ¥ ¥ i Tk Sa g1 & ad1 &
T SA-gRas § 9 Hel X faray |
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% foQ o @ w9g Tl fean s |

Sa-gRaer ¥ weaH-fug 9 stuan tide wrt & sifafea w2 ot srsmaie faes o
ThETel B SErg SETE WA |

S SAX-GRAET TX WIS @ s dew 62/08/2, e - [A| fE
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T OHhd

ol ARG, ST, UT@l, B, T&pa oY e |
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(@) afy omg & ug e & erfafea feell o wror # Sox foed &, O wes &l 993
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SCIENCE AND TECHNOLOGY

(fremt T i)
212)
Time : 2% Hours] [Maximum Marks : 85
. 1 e~ .
g 2 "] [quiie : 85
Note : (i)  All questions are compulsory.

(il)) Marks are indicated against each question.

et . (1) Al e sfEd
(i) UA® YT & 3 SHp 9+ feuw ww T |

1  In which state of matter, the interatomic force is weakest and unable to keep 1

the molecules together ?
(A) Solid (B) Liquid
(C) Gaseous (D) Cannot be compared

T B fohg STaRe W STIUTHIS 99 §aY 3fush A o © ST TS Hl U
1Y % TE W@ T 7

(A) 2/ e o (B) 9 orawern ¥
(C) & orawn ¥ (D) s AT Tl Dl ST Feball
2 In compounds PBr; and P,Os the valencies of phosphorus are respectively 1
(A) 1 and 2 (B) 3 and 5
(C) 3 and 2 (D) 1and>5

it PBry T P,05 & ®IhE & Sawahd HAM: & —
(A) 12 B) 3 &R 5

(C) 3 @i 2 (D) 1R 5
62/0S/2—212_A] 3 (U [ Contd...



3 Which, out of the following statements about the Newton’s third law of 1

motion, is False ?

(A) Action and reaction are interchangeable

(B) Action and reaction are always equal and opposite

(C) Action and reaction are simultaneous

(D) Action and reaction act on the same body.

T H TG & el % d@¥y 7 freafaied § @ dF-a wUT 9 T8 e 7
(A) foran ok wfafrar owar fafmashe e € |

(B) fpar o wfafran ufmmor & soew ofk feon & faada =t &

(C) frar ofx wfafrar I Ta @y @ ¥ |

(D) e o wiafrar @ ws & s X @ ¥ |

4  The number of chromosomes in parents and offsprings of a particular species 1

remain constant due to :

(A) Doubling of chromosomes after zygote formation

(B) Halving of chromosomes during gamete formation
(C) Doubling of chromosomes after gamete formation

(D) Halving of chromosomes after gamete formation.
forelt wemifar & wrar-fuar v wafwdt § uREl @ g o Wl ¢ o
(A) TSt 0T % 99aTd OGSl b 5O % &

(B) e (gme) fmi & SR oREH & ST % HRe

(C) iz Fior & gyama TREH & fEee & &R

(D) iz fmior & qeama ol & SO % RO
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5  Which one of the following is not a cause of landslide ? 1
(A) Heavy or prolonged rainfall
(B) Deforestation
(C) Dynamite blasting
(D) Lightening
frrfafad & ®F T &1 SR T2 B ¥ 7
(A) TE@YR FIIT BT qb Bl & ATl aut
(B) e
(C) smamMEe fawhea
(D) dfsd wer

6  Full form of MRI is : 1
(A) Magnetic resonance imaging (B) Machine research impact
(C) Machine resonance imaging (D) Magnetic resonance impact

MRI &1 qUf &9 & -

(A) Tfesd T AR (B) @ frod e
(C) =M WiHe zaRiT (D) e AT 3T
7  The functional group present in the CH;— CO — CHj is : 1
(A) Alcoholic (B) Aldehydic
(C) Ketonic (D) Carboxylic
CH; - CO - CH; ¥ faemm siffera o8 @ ¢
(A) TAHEIAD (B) ufreersfcs
(C) Hfme (D) wraiferies
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8  Which of the following properties does not characterize metals ? 1
(A) Malleability (B) Electrical conduction
(C) Non sonorousity (D) Lusture

Frefatea & @ grget &1 sifvaratmes qores T8 5 7

(A) emETaEdar (B) dEa aradsar
(C) ereafenar (D) uifas a9®
9  The potential energy of a body of mass ‘m’ at height ‘4’ is mgh. 1

When dropped from this height the kinetic energy of this body while
hitting the ground will be :

(A) mgh (B) 2 mgh
(C) zero (D) mgh-mv?

‘m’ T & el s & 4’ SuR W Rufow &=t mgh ¥ | 389 S @ fre S
R} g fos S 9 98 9HE § THAW, IqHI I1 T -

(A) mgh (B) 2 mgh
C) = (D) mgh-mv?
10 Balance the following chemical equations. 2

frrefaiaa Tt Tl & dgiad big |
(a) Mg+ Oy — MgO

(b) F€+H20%F€304+H2
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11 Draw the ray diagrams showing the formation of image using a convex lens 2

when the object is placed

(a) beyond 2F

(b) Dbetween optical centre and focus

fepToT o ST SO | ¥ ORI @ S 39ise w9 e T w -
(a) 2F % W

(b) YHIv® H= R ®HHE & §=

12 Find the currents flowing in 2 Q,4 € and 6 Q resistors in the circuit shown 2

below.
feq o o 7 2Q,4Q, 6 Q wigel ¥ yaiEd B A Sgd € B 9T
BT |

I N

13  What are the full forms of SONAR and RADAR ? Why SONAR is more 2
useful than RADAR in water ?

SONAR 1wd RADAR % qUf &9 ®1-&1 & | 5@ § SONAR @ suaifiar RADAR
I oUeT fusw Fl el 5 7
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14

15

gofl yega @ity |
16 (a) What is meant by catenation property of carbon ?
(b) Why does carbon form a large number of compounds ?
(a) ET B YO OEH  FT A & 7
(b) wEw 92 w@n ¥ At = Mg s ® 7
17 (a) Differentiate between the base units and derived units.
(b) Why do we need a standard unit to measure a physical quantity ?
(a) & Ue GO WRE § G B |
(b) TrEl ifqe TRT & 71O9 & T T U AN G i STA9Thdl i Bl § 7
18 (a) Describe the Thomson model of an atom. Why was it discarded ?
(b) Who proposed the ¢ -ray scattering experiment and what were the three
important conclusions of this experiment ?
(a) U] & ATEET HISA B JUA HIWT | 3H BISAT F GIT 7
(b) o —TeRTTT THITIH TENT T AT TehE TR et o7 iR 38 WA & A waeqol
frrepe @ o ?
62/0S/2—212_A| 8 (MR [ Contd...

Define Nerves. Differentiate between sensory nerves and motor nerves with

examples.
‘dfreer @ gfedmor fafaw | d@ad dfe ud SR dfier § ot eI & 91y
W HIRT |

What is meant by reactivity series of metals ? Present a reactivity series of

at least 6 metals.

gTgatl @1 Fichaar SNl ¥ FAT AU BT & ¢ HHA § BH 6 S Bl T Aishadr




19 (a) What are metalloids ? Where are they placed in the modern periodic 4

table ?

(b) How does the metallic character change in the modern periodic table :

(i) from top to bottom in a group and (ii) from left to right in a period ?
(a) SULg M BT & ? YHH mad |l ¥ IR wel @ T F

(b) ongFie omead Al # (i) forel ¥ ¥ SUX & 1 9 WX SR (i) emed o
91T ¥ TMRAT IR @ O del dl iicdd YHid 68 T q&edl & 7

20 How is plaster of Paris prepared ? Write chemical equation involved. 4
Name the raw material used in the preparation of plaster of Paris. Write its

three uses.

T % Ui &1 i fhe ger fear wam @7 sEd "W temie
THIR T fied, 39 Wb | Tgad 8 T hed WA b A gy | 39 A SudnT
faRaa |

21 (a) Explain why, transmission of ac, from electricity generation plant to 4
local power distribution centre is preferred than that of the transmission

of dc ?

(b) Name any two processes which can take place with dc only

(a) =TT BT b T T TIF § W 9ot faaqwer o & ac @1, de @
®I 3T9er fepwradl Y ugar § 7

(b) TH f=l <1 Wl & 9 fafaw S waw dc TR & T B Gehd § 7
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22

23

24

25

(a) Distinguish between renewable and nonrenewable sources of energy.
(b) Identify the following sources as renewable and nonrenewable sources :

Fossil fuel, nuclear energy, solar energy, wind energy, hydroelectric energy

and geothermal energy.
(a) BN T SHAGBIONT FHell Gl § S W BN |
(b) Fr=ferRad & & T Sl Bl Td Ao Hotl Bl el TEd BT :
e Sem, =R S, R Sotl, T S, e St qe - St |

What is meant by asexual reproduction ? Explain in brief the various types of

asexual reproduction in lower organisms, giving one example in each case.

ST JoTe & T AT & 7 Ueh Wehlul o Uoh—Udh IAEAW od 8§ Mg Wi
H ol yome & fafir wenl @ it samen Bifvg |

What is meant by balanced diet ? What are its main constituents ?

Raw vegetables and fruits should be the regular components in the meal, why ?

YIfd SRR | o1 AU § 7 39% e HEOUd dIN-dH ¥ ¢ ¢ 3R H &l
qfsral T wal @ ata gHEsT ® SEEE § 7

(a) State any two typical characteristics of chromosomes.

(b) What is meant by DNA replication ? Write three major steps of DNA

replication process.
(a) HEEE (TR & B & TEe AEET ARy |

(b) ST UfTHiTHITT T BT ¢ 7 SWAY UIAPHIaHI THH & A G aX
AT |

4

4
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26 Name the four techniques which have been developed for the safe storage of 4
food grains so as to save them from getting deteriorated. Discuss them in
brief.

rE et % GUHd Werer % foy famia o O faftat % W Sany (T oteTent
I= GUE BN U IO A1 | S a9 ¥ 9uie eIy |

27 (a) What are the major constituents of dry air ? 4
Which constituents of air are responsible for (i) Photo synthesis and
(i1) Breathing.
(b) Write two uses of the constituent which has maximum fraction in air.
(a) Yk 9g % &I FqT BB ° § 7
Y § BE-a oadd (i) Fe-g9awer X (i) aee % fou SaRer ¥ |
(b) A % TH oA & B3 & SUAN farEgq S 3O w9 e uieAr ¥ E |

28 (a) What is an ionic bond ? Explain the formation of sodium chloride by 6
the transfer of electrons.

(b) Why does electrostatic force of attraction develop between sodium and

chloride ions ?
(c) The melting and boiling points of ionic compounds are high. Justify.

(d) TIonic compounds are good conductor of electricity in molten state and

bad conductor in solid state, why ?

(a) oIS SNEY AT BT & ? G S P SMYR U WIETH FARKZS &b T
H AT |

(b) HfsTm oiX FEs AT & S BB Reaga s@ wf fowia 2
g7

(c) o dfiEhl & Torie AR Fauqis 3w Bd €, ST qhaTd AT |

(d) mafs e TR o ¥ € d ded g A ¥ oK o @ A dad g
Bd ¥ - tar = 7
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29 (a)
(b)

(c)
(d)

(a)
(b)
(c)
(d)

State Archimedes principle.

What are the two factors on which magnitude of buoyant force acting on

a body depends ?
Does the buoyant force act on a body when it is kept in vacuum ?

A body weighs 5.0 N in air and 2.5 N when it is immersed in water.

Find the buoyant force acting on the body.

sreiters fagia fafag |

I BRE HHE-F & T o fpelt fiis X @ 9 seamas s e dxar ®
w1 fata ¥ W@ fis X ot *iE Scaas 97 & Al § 7

T fis & g ¥ 4R 5.0 N ¥ iR 19 38 &fa # SaIh< qiell STal & af "X
25 N U Sar & | T o)X @ 9 SadraT 97 Bl Ui hiteg |

30 Draw the schematic diagram of Nitrogen cycle and explain the process

in brief.

AR T BT AT ST 98T ST 36 Wb @] & § =ren Hitwg |
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TUETE Y9I b UEH USS UX SUAT SThHIh oAy g |

FUAT YIS Bl TG o {6 YTUH F P YoSI qUT YA Bl I & TE&AT & T Yo ISs
% 99 FUX BUI ¢ | 39 I1G B A9 W B W 6 YT hiHp €A ¥ |
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SCIENCE AND TECHNOLOGY

(fremt T i)
212)
Time : 2% Hours] [Maximum Marks : 85
. 1 e~ .
g 2 "] [quiie : 85
Note : (i)  All questions are compulsory.

(il)) Marks are indicated against each question.
ot () |l U fEd ®
(i) UA® YT & 3 SHp 9+ feuw ww T |

1  The potential energy of a body of mass ‘m’ at height ‘4’ is mgh. 1
When dropped from this height the kinetic energy of this body while
hitting the ground will be :
(A) mgh (B) 2 mgh
(C) zero (D) mgh-mv?
‘m’ FHIE & Tl e a1 7’ SarR W Rufost &=t mgh & 1 39 S 9 fre s
R} 59 fasl S 9 98 9WF § THAW, IGH 91 T -

(A) mgh (B) 2 mgh
©) g= (D) mgh-mv?
2 Which of the following properties does not characterize metals ? 1
(A) Malleability (B) Electrical conduction
(C) Non sonorousity (D) Lusture
Prerffa & @ eTqalt w1 afaf et 8 ¥ 7
(A) emETaaedarn (B) dEga aradhar
(C) et (D) uifca®s T9®
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3 The functional group present in the CH;—CO —CHj is : 1

(A) Alcoholic (B) Aldehydic
(C) Ketonic (D) Carboxylic
CH; - CO - CH; ¥ foemm afaera a8 ¢
(A) TEwHEIT® (B) ufrsesfias
(C) wr® (D) rElferte
4  Full form of MRI is : 1

(A) Magnetic resonance imaging (B) Machine research impact
(C) Machine resonance imaging (D) Magnetic resonance impact
MRI &1 qUf &9 & -

(A) Ffew HE AR (B) wfw frad silae

(C) wetH e afs (D) #Hifed HE TR

5  The number of chromosomes in parents and offsprings of a particular species 1

remain constant due to :

(A) Doubling of chromosomes after zygote formation

(B) Halving of chromosomes during gamete formation

(C) Doubling of chromosomes after gamete formation

(D) Halving of chromosomes after gamete formation.

fopdll UeTIial o HIaT-—Tudt U Eafadl o ORET & g o€ @l ©
(A) go=w Fmier % ggera qoREl & TS & @R

(B) e (gme) FEivr % SF [oRgEl & STEOE % B

(C) e frfor % wyaE Tt B FEE % wRO

(D) e fmfor & geErd YOG % STUTE % BT

62/0S/2—212_B | 4 (AW imm [ Contd...



6  Growing trees as part of afforestation is called - 1
(A) Monoculture (B) Horticulture

(C) Silviculture (D) Agriculture

I &F ST F I H @ INET BEaw & —

(A) THA B (B) < Hiy
(C) T (D) &N
7  The momentum of an object of mass ‘m’ having kinetic energy £ is 1

s fUs REaT gsem™ ‘m’ iR Tas et & &, S9! 99 Eal §

(A) mv (B) %mv2

C) 2mk (D) 2 mvk

8 In compounds PBr; and P,Os the valencies of phosphorus are respectively 1
(A) 1 and 2 (B) 3 and 5
(C) 3 and 2 (D) 1and>5

fiet PBry Td P,05 ¥ HiEhRE &l Taisehdl HAsT: & —
(A) 18T 2 (B) 3&iXs
(€©) 332 D) 185
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9 In which state of matter, the inter molecular forces are maximum and binds 1
the molecules together ?

(A) Solid (B) Liquid
(C) Gas (D) Can not be compared

7 %! [ TR § ST<AX SNfvash 9 Sehad B & S SISl Hl U S99 BT
@d 8 7

(A) 2@ (B) @@
(C) = (D) qo & B W Fehehl
10 (a) What is meant by catenation property of carbon ? 2

(b) Why does carbon form a large number of compounds ?
(a) WIS BN Y@ TOEH F FT AHIF § 7
(b) T w1 " ¥ A F@a M war § 7

11 What is meant by reactivity series of metals ? Present a reactivity series of 2

at least 6 metals.

et Sl Fishaa SO0 | FT ATHIE BT & ? B W BH 6 IS Dl Th AlshaAd
gofl gega @ity |

12 Define Nerves. Differentiate between sensory nerves and motor nerves with 2

examples.

I @ afedrer fafaw | H@ady b wd U dfre § orR S % "y
WL HIRT |
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13  Find the currents flowing in 2 Q,4 € and 6 Q resistors in the circuit shown 2

below.

fer mafma § 2Q,4Q, 6 Q yfiius § yarfed B9 o JEd €T w1 i
BT |

2Q
I
\12 4Q
>IN
N g0 /1
JAS %
+, -
] |
24V
14 What is transferred in a wave, matter or energy ? Differentiate between 2

transverse and longitudinal wave.

TET H FpeT WM 21T §, §0 &1 U FHoll ol 7 ST T jeed aan
¥ 9T BT |

15 Draw ray diagrams showing the formation of image through a convex lens 2

when object is placed at (i) 2F and (ii) between F and 2F.

ST @ B0 glate FE ggiar gen feter e SMRY Seie e g8 9
(i) 2F oX W@ @ 8 (ii) F 8fX 2F &% <= W@ & |
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16 Balance the following chemical equations : 2
T faE! TETatTe GHm el B Sgiad S
(1) CH4+02 %C02+H20

(i) M}’l02 + HCl — M}’lClz + H20 + Clz

17 (a) What are the major constituents of dry air ? 4
Which constituents of air are responsible for (i) Photo synthesis and
(i1) Breathing.
(b) Write two uses of the constituent which has maximum fraction in air.
(a) 9% dqg % A G99 HH-HH o § 7
T H HF-91 oagd (1) WHIT-G9aw &R (i) a8 & U SOt ® |
(b) 1Y % IT TATT % B3 ql SUART fARGT < 399 T Sifes i # ¥ |

18 Name the four techniques which have been developed for the safe storage of 4
food grains so as to save them from getting deteriorated. Discuss them in

brief.
e veret % gaa wener % fau fawtia o ar fafrat % am sase i eraaret
3= TS BN ¥ IO S0 | S 989 ¥ 9uiE Hivg |

19 (a) State any two typical characteristics of chromosomes. 4

(b) What is meant by DNA replication ? Write three major steps of DNA

replication process.
(a) HEEE (U % B & el AfeEeT SaEy |

(b) ST UfTHidHIT F1 BT ¢ 7 AT UAPHaHI THH & A e aX
AT |
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20 What is meant by balanced diet ? What are its main constituents ? 4

Raw vegetables and fruits should be the regular components in the meal, why ?

UIfd SRR | @1 AU § 7 39% e qEOUd BN ¥ § ¢ 3R H &l
gisal T ®ell 1 Mafd 9uEy F sna9dd & ¢

21 What is meant by asexual reproduction ? Explain in brief the various types of 4

asexual reproduction in lower organisms, giving one example in each case.

et Uo & o ATl ¥ ? U Uil Hf WUk Saeiy o gu Frereaiim wiftrat
T orfell o & faf= gl o wfaa aamen @i |

22 What are the advantages of connecting electrical devices in parallel with the 4

battery instead of connecting them in series ? (write any four advantages)

e gt @ Aol & 7 Sewt WedEmH ¥ eY %’ AW By ¥ 7
(@75 ° @ fafag)

23 (a) What is meant by the statement that 'energy can neither be created nor 4
destroyed' ? Explain with the help of an example.

(b) Write four steps which you can take for saving electrical energy in your

homes.

(a) Tl B A G B GhaT 8, 7 fOAT — 39 BT W R A § 7 Wb IQEA
IHL TR BT |

(b) o =X ® faga &1 99q & MU 39 ST HaA SoT Tohd & o § sl a &
faRaa |
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24 List the raw materials required for the manufacturing of bleaching powder. 4

Write its method of preparation and chemical reaction involved.

T arEsY FHw &% g srasas wed vardt o gaEs St | 3aew! e fafy
BT A DT SR Yobd § A @i sitifear fafaw |

25 (a) What are metalloids ? Where are they placed in the modern periodic 4

table ?

(b) How does the metallic character change in the modern periodic table :

(1) from top to bottom in a group and (ii) from left to right in a period ?
(a) SULY R EA & ? AYHH Ed |l A IR wel @1 T F 7

(b) oMy amed wREl § (i) fAdl € ¥ $W ¥ T 9H 9 SR (i) emed o
1T ¥ Al X e UX a@l ol s Yoid [hd b gqadl & 7

26 (a) Describe the Thomson model of an atom. Why was it discarded ? 4

(b) Who proposed the ¢-ray scattering experiment and what were the three

important conclusions of this experiment ?

(a) XA % ATAE HiSH B U HINT | 3§ BreT Ff TSI 7

(b) o —ToRToT YBIU YA T YT TopeT TRga foham o1 37X 36 TANT % o Aoyl
frrepd w®m & ?
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27 (a) Differentiate between the base units and derived units. 4
(b) Why do we need a standard unit to measure a physical quantity ?
(a) @ Ue GO RE § G B |

(b) Terelr +ifae T & 7O & foT & U A WTe @l Sasaedr =l el § 7

28 (a) State Archimedes principle. 6

(b) What are the two factors on which magnitude of buoyant force acting on

a body depends ?
(c) Does the buoyant force act on a body when it is kept in vacuum ?

(d) A body weighs 5.0 N in air and 2.5 N when it is immersed in water.
Find the buoyant force acting on the body.

(a) oTHItENT fagia ey |
(b) I A BRH BT ¥ A W pE e . @ a1t Searas 9 MR dxar & ?
(c) = frafd & @ fis X f & Scaad 90 & LT & 7

(d) ws fUs & ag & 91X 5.0 N § 3R 519 39 5@ 9 SIBL Al Sl § af "/
2.5 N urn Sar 3 | i o @ a1 St 9 Bl Ui Bt |

29 Draw the schematic diagram of Nitrogen cycle and explain the process 6

in brief.

AEEIST Teh BT AT ST 99130 ofX 39 WehH @ &Y H =TT HIWT |
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30 (a)

(b)

(c)
(d)

(a)

(b)

(c)
(d)

What is an ionic bond ? Explain the formation of sodium chloride by
the transfer of electrons.

Why does electrostatic force of attraction develop between sodium and

chloride ions ?
The melting and boiling points of ionic compounds are high. Justify.

Ionic compounds are good conductor of electricity in molten state and

bad conductor in solid state, why ?

ATl ST FT B & 7 Fa SR o STER I HSTH FARES b
H AT |

qifsad iR FARES Al & S AHYUHH Reaga sa @i famida e
g7

At AR & TAAh IR FUIh 3T B &, 9% dhaTd ST |
I e T oreRe ¥ 2 1 S gee A ofn o & o A e
B ¥ - vEn
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General Instructions :
Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also

1
2

check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given

to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 62/08/2, Set - |(C

on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided

in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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A ST

1

2

TUETE Y9I b UEH USS UX SUAT SThHIh oAy g |

FUAT YIS Bl TG o {6 YTUH F P YoSI qUT YA Bl I & TE&AT & T Yo ISs
% 99 FUX BUI ¢ | 39 I1G B A9 W B W 6 YT hiHp €A ¥ |

TGRS Tt H Ul AR faedt (A), (B), (C) qam (D) ¥ ¥ i Tk Sa g1 & ad1 &
T SA-gRas § 9 Hel X faray |

JEIFTSS Ul & TI-TT U U & ITX UG rard % WAk o o7 ¢ | AR ueAt
% foQ o @ w9g Tl fean s |

Sa-gRaer ¥ weaH-fug 9 stuan tide wrt & sifafea w2 ot srsmaie faes o
ThETel B SErg SETE WA |

AT T -gRABT T 9T 1 Bs de@ 62/08/2, W — [C] fe |

(®) WIS haw /S & & | AT fY, afy oo o o T & 2 femdll wa W F I
T OHhd

ol ARG, ST, UT@l, B, T&pa oY e |

FuaT IA-YRa®r ¥ fiw U atew ¥ foe 6 o fpw o SR o w ¥

(@) afy omg & ug e & erfafea feell o wror # Sox foed &, O wes &l 993
¥ o ot Jfeat | afat B ey aw smuer gl |
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SCIENCE AND TECHNOLOGY

(frem T i)
212)
Time : 2% Hours] [Maximum Marks : 85
g 2 "] [quiie : 85
Note : (i)  All questions are compulsory.
(il)) Marks are indicated against each question.
ot () |l U fEd ®
(i) UA® YT & 3 SHp 9+ feuw ww T |
1 Which of the following constitute a food chain ? 1
(A) Grass, Wheat and Mango (B) Grass, Goat and Human
(C) Goat, Cow and Elephant (D) Grass, Fish and Goat
frrefaiead & dF-—91 %9 06 JER-YEar & 7
(A) @9, TR R o™ (B) =@, s X 9
(C) s&, T 8iT T (D) =™, 98l R Fhd
2 The number of chromosomes in parents and offsprings of a particular species 1

remain constant due to :

(A) Doubling of chromosomes after zygote formation

(B) Halving of chromosomes during gamete formation

(C) Doubling of chromosomes after gamete formation

(D) Halving of chromosomes after gamete formation.

Rpe woRY % TR T S ¥ R @) e o e b
(A) e FHT % qeard oAl & 5o & B

(B) e (grw) Frafor % R TR % SO % AT

(C) e fmfor & geamd ol & fEoe & ®rRo

(D) e o & ggEd OESl % STHUE % B
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3 In compounds PBr; and P,O4 the valencies of phosphorus are respectively 1

(A) 1 and 2 (B) 3and5
(C) 3 and2 (D) 1and5
It PBry T P,05 ¥ ®iEhE & Hdwahdl HAT: & —
(A) 18?2 (B) 3 a5
(C) 3 &2 (D) 1 &K 5

4 A body of mass ‘m’ moving with velocity ‘v’ along a straight line in positive 1
x direction collide and rebounds with the same velocity, then change in the

linear momentum of the body will be -

(A) my B) 2mv

C) —-2mv (D) zero

‘m’ TEAM WV AT H x-318 b SIS TI@@ § A U TS Hig dHE B
¢ IR S 9 ¥ fqudia feen o 9w weq ¢ 1 39 s & g9  aRacq @ A=
BT —

(A) mv B) 2mv

(C) —2mv (D) =

5  Amongst the following materials the force of attraction between the particles 1

1S maximum in

(A) Oxygen (B) Milk

(C) Salt (D) Nitrogen
Frefatea garet # & fored & & S/ TRy g7 AfedT © 7
(A) il (B) 3w

(C) = (D) g

62/08/2—212_C ] 4 (AW imm [ Contd...



6  The potential energy of a body of mass ‘m’ at height ‘4’ is mgh. 1
When dropped from this height the kinetic energy of this body while
hitting the ground will be :

(A) mgh (B) 2 mgh
(C) zero (D) mgh-mv?

‘m’ g & el e o h° Sue W Rufost o=t mgh & 1 389 S @ fre S
R 5 o S @ 9 SWF ¥ THau, 96 91§ -

(A) mgh (B) 2 mgh
C) = (D) mgh-mv?
7  Which of the following properties does not characterize metals ? 1
(A) Malleability (B) Electrical conduction
(C) Non sonorousity (D) Lusture

frfafaa & # angett & srftenafirs oredt & ¥ 7

(A) emETaaedar (B) dEga aradhar
(C) areafTarar (D) wifers a9®
8  The functional group present in the CH; -~ CO —CHj is : 1

(A) Alcoholic (B) Aldehydic

(C) Ketonic (D) Carboxylic

CH; - CO - CH; ¥ fiemm siffeea & ¢ ¢

(A) TAHEIDH (B) ufesiss

(C) wreiftew (D) wETah
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9  Full form of MRI is : 1
(A) Magnetic resonance imaging (B) Machine research impact

(C) Machine resonance imaging (D) Magnetic resonance impact

MRI & qUf &9 & -

(A) THfes THa SR (B) #= Tad gdiee
(C) T (Mg A (D) FHfew AT 3@
10 Will sound move faster in a solid or in a gas ? Write basic difference 2

between music and noise.

T 3 H iU AT ¥ T@dl 7 A A H ? WG SR @ F 9 qAYd S
w1 %, fafteg |

11 Find the currents flowing in 2Q,4 €Q and 6 Q resistors in the circuit shown 2

below.

for muafma § 2Q,4Q, 6 Q ufiust § yarfed g9 o Jed €T B i
BT |

20
1
I
2,40
N g0 /1
I N
+I —
[
24V
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12 Draw ray diagrams showing the image formation through concave mirror 2
when object is kept (i) between pole and focus (ii) at centre of curvature
of the mirror.

e U ¥ Wil @ g9 9nd g fRRr emtw SRy, 99 e < @ o
(i) ga 3R ®ied & 99, o (i) IIT & Tehal &= T |

13 Balance the following chemical equations : 2
frrefafRaa Tamafe @il ol d@gfad sy :

G) HgO—"°" Ho+0,

(ii) Al + HCl—> AICL; + H,

14 (a) What is meant by catenation property of carbon ? 2
(b) Why does carbon form a large number of compounds ?
(a) ET B YO OEH  F1 A & 7

(b) wET 92 & ¥ At b Mg s ® 7

15 Define Nerves. Differentiate between sensory nerves and motor nerves with 2

examples.
‘It @ aftdrer fuRaw | @9y b wd U dfrer § e S & "y
WL HIWT |
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16 What is meant by reactivity series of metals ? Present a reactivity series of 2
at least 6 metals.

gTgatl ®1 Fichaar SN ¥ FAT AU BT & ¢ HHA F HH 6 g3 Bl T Aishadr
gofl yega @ity |

17 (a) Write any two limitations of using natural gas in meeting our energy 4
requirements.

(b) Write two advantages of using nuclear energy over fossil fuels.

(a) AT FHoIl SEgAHATA B I & @Y WIpiaw TG B IUART B Bl By &l
g fafag |

(b) SirensH $EAT % WM WX AMHHG Sl b SHAN & & @ faRay |

18 Why transmission of ac is done at high voltage ? Explain the role of 4

earthing in house hold wiring.

ac 1 o0 I°d Jleedl UX FT {RAT AT & 7 UG JEd HeRT H SHUh @Bl
e W BT |

19  Write the chemical formula of washing soda. Explain Solvey's process of its 4

manufacturing. Give any two uses of washing soda.

gigT |IST &1 T g3 MRaT | 366 M % |icd UhH @l STl Hivg |
€T ST & B3 & Iuan faRiaw |
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20 (a) What are metalloids ? Where are they placed in the modern periodic 4
table ?

(b) How does the metallic character change in the modern periodic table :

(i) from top to bottom in a group and (ii) from left to right in a period ?
(a) SUYg HEA $ ? AYH SEd |l A I wel @ T § 7

(b) ongFie omead Al # (i) forel ¥ ¥ SW ¥ 1 9 WX SR (i) e H
I F TN 3T T U Tl Dl dTicass Ypid [hE YK Iqodl § 7

21 (a) Describe the Thomson model of an atom. Why was it discarded ? 4

(b) Who proposed the ¢ -ray scattering experiment and what were the three

important conclusions of this experiment ?

(a) UXHIY % UTOE HiSH b 9UH BT | 38 BreT =t qgT 7

(b) o —THTTT YHIU YANT T T ToperT T foham o7 37X 36 TANT % o Aoyl
frepd w®m g ?

22 (a) Differentiate between the base units and derived units. 4

(b) Why do we need a standard unit to measure a physical quantity ?
(a) T« Td Fa=1 TRE § 98 By |

(b) Terelr wifaes TR & 71O & T &8 U A% 9T S Sasadhdr i el § 7
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23

24

25

26

(a) What are the major constituents of dry air ? 4

Which constituents of air are responsible for (i) Photo synthesis and

(i1) Breathing.
(b) Write two uses of the constituent which has maximum fraction in air.
(a) % Ig % T 99 DDA § & 7

TN | HE-a1 oTaad (i) FehIT-Hwuer X (ii) yaa" & foy S ® |
(b) 1Y % IT TATT % B3 ql SUART fARGT <l 399 T oifes i # ¥ |

Name the four techniques which have been developed for the safe storage of 4
food grains so as to save them from getting deteriorated. Discuss them in
brief.

rE et % GUHd Wener % foy famia o O faftat % T sany (T oreTet
S WU BN W 99l T ¢ | ST e H quie Bt |

What is meant by balanced diet ? What are its main constituents ? 4
Raw vegetables and fruits should be the regular components in the meal, why ?

Ugfaa SR o o1 Sy & 7 39% Y& ofa9d d-dF & § ? SRR H &l
afsral T wal @ At ghEsT ®oSEsEs 57

(a) State any two typical characteristics of chromosomes. 4

(b) What is meant by DNA replication ? Write three major steps of DNA

replication process.
(a) wEEE () % B I WENSG ArTAeeT a5y |

(b) ST UfTHiqHITT F1 B ¢ 7 AT UAPHaHI THH & A g aX
AT |

62/08/2—212_C ] 10 (AW imm [ Contd...



27 What is meant by asexual reproduction ? Explain in brief the various types of 4
asexual reproduction in lower organisms, giving one example in each case.

ST U o T A § 7 UAd YO § Uh-Ueh ISR ol gU e it
H offel yome & fafir wenl @ dfita samen Sifvg |

28 Draw the schematic diagram of Nitrogen cycle and explain the process 6

in brief.

AR T BT AU T 98T 3T 36 WhH &l &Y ¥ TRl HitwT |

29 (a) What is an ionic bond ? Explain the formation of sodium chloride by 6
the transfer of electrons.

(b) Why does electrostatic force of attraction develop between sodium and

chloride ions ?
(c) The melting and boiling points of ionic compounds are high. Justify.

(d) Ionic compounds are good conductor of electricity in molten state and

bad conductor in solid state, why ?

(a) ST STEY T EIAT & 7 AL SEATAIUT P SR U TSI FARTES &b T
B THSRY |

(b) dfeTA i FARIZS SMAAl & I SFHYIBRI R a wi fawiaa 2
g7

(c) ot ARl & el ol FaUHidh ITT BId &, 3B ahaTa g |

(d) omafie gaTef TTfdd oTereT o 81 1 JE[d A o & S 39 & al Igd A
T T - a7
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30 (a)

(b)

(c)
(d)

(a)
(b)
(c)
(d)

State Archimedes principle.

What are the two factors on which magnitude of buoyant force acting on

a body depends ?
Does the buoyant force act on a body when it is kept in vacuum ?

A body weighs 5.0 N in air and 2.5 N when it is immersed in water.

Find the buoyant force acting on the body.

smaitE fagia fafay |

9 B B HH-H & v X fpdl i . @™ amr Searas sd Fd s g 7
w1 fa o W@ s X 9 B Iedad 99 B BIar © 7

T fis @1 g ¥ 4R 5.0 N ¥ iR o9 38 & # S el STal & af "X
2.5 N Urn 9rar & | fis X &N a9 Sty 9o T Giiehe BNy |
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